e ]ﬁk — e
B T B oL AT CTWI X[ BT Q:nl ca | coa K
SFU01204-4 |12 | 4 | 25 |24/ 40 10|40 ' 32 |45 30 | 4 593 1129 125
SFU01604-4 l4 2381 |28 48 |10 40 |38 |55 40 M6 |4 620 1270 | 35
SFU01605-4 |16 5 3175 28| 48 (10 50 |38 |55/ 40 M6|4 780 @ 1790 @ 20
SFU01610-3 101317528 48 10 57 |38 |55 40 M6 |3 72 1 1249 | 15
SFUO2004-4 |, | 4 | 238136 58 |10 42 47 |66 44 M6 |4 699 | 1617 | 41
SFU02005-4 53175 |36 58 |10 51 47 | 66|44 M6 |4 | 1130 | 2380 | 25
SFU02504-4 4 /2381|4062 1042 51|66 48 M6 |4 777 @ 2052 48
SFU02505-4 5 3175|40 62 10/ 51 |51 | 66|48 M6|4 1280 3110 | 35
SFU02506-4 |25 6 3.969 40/ 62 10 54 |51 |66 48 M6 4 1528 3284 40
SFU02508-4 8 4762 40 62 10/ 63 51 66|48 M6 4 1941 383 @ 38
SFU02510-4 10/ 4762 | 40| 62 (12|85 51 |66 48 |M6 |4 | 1944 3877 | 33
SFU03204-4 4 2381 50 80 |12 44 65 9 |62 M6 4 871 2661 | 56
SFU03205-4 53175 |50 80 |12 52 65| 9 62‘M6411450 4150 | 40
SFU03206-4 | . | 63969 50 80 12|67 65 9 |62 M6 |4 1720 | 4298 | 47
SFU03208-4 8 4.76250i801265659 62 M6|4 2189 | 5079 @ 44
SFU03210-4 10/ 6.350 |50 80 12190 65| 9 |62 M6 |4 | 3390 7170 | 79
SFU04005-4 51317563 93 1455 |78 9 |70 M8|4 1610 5330 | 49
SFUO4006-4 | ,- | 6 3969|6393 14 60 78| 9 |70 M6 |4 1911 5458

SFU04008-4 8 4762|863 93 14 67 /78| 9 |70 M6 |4 2435 6469 | 52
SFU04010-4 106350 | 63 93 14 /93|78 | 9 |70 M8 |4 3910 9520 | 50
SFU0S010-4 | ., 10 6:350 | 75/110 16| 93 93 | 11 | 85 M8 |4 4450 | 12500 | 65
SFU05020-4 20 7.144 | 75 11016138 93 | 11 | 85 M8 |4 | 4644 14327 595
SFU06310-4 10/ 6.350 | 90| 125 18 98 (108| 11 | 95 M8 |4 | 5070 = 16000 80
SFUeaz0-4 | % 20| 9525 | 95 1ssiao 149 115|135 100 M8 | 4 | 7573 & 23860 84.1
SFU08010-4 10| 6.350 |105 145 20 98 125135 110 M8 |4 5620 | 21300 | 90
SFU08020-4 | %0 | 20| 9.525 [125 165 25 154 145135 130 M8 |4 | 8485 | 30895 841
SFU10020-4 1100 | 20 | 9.525 |150/ 202 |30 180 170 17.5/155 M8 | 4 | 9420 = 39183 110.1




M
4-Q XEF b YHRZ
4-X drill ¢ Y counter bore depthZ B1
\ A

b
P
B
Model .Shaft I B I h
No. dlar:leter LILLL213/ B H [, 0 05)e0.0p BT HL |E/ P CLC2[d2/X | Y (Z M T

| BK12 | 12 25/6 29/5 60 43| 30 | 25 [35(32.5/18 46 13|6 [5.5/6.6] 11 |1.5M3| 19
|'Bk15 | 15 2706 (326 70 48] 35 | 28 (40|38 [18/54 [15]6 [55/6.6] 11 [6.5M3] 22

| BK17 | 17 [35/9 |44|7 [86 |64 43 | 39 (50|55 [28/68 (198 |6.6]9 | 14 (8.5 M4/ 24
[BK20 | 20 358 438 [88 60| 44 | 34 [52]50 [22/70 (198 |6.6]9 | 14 (8.5 M4/ 30
|'Bk25 | 25  [42]12]54]9 [106/80] 53 | 48 [64|70 [33/85 22[10[9 [11[17.5/11 [M5] 35

| BK30 | 30  [451461]9 [128/89] 64 | 51 [76| 78 (33110223 11|11 [14 |20 |13 [M6| 40
|Bk35 | 35 [50[1467|12]140(86] 70 | 52 88|79 [35/114|26 |12 |11 [14] 20 |13 M8| 50

saln = dr T =
: T N S
* . ——
NNl of  ~ Y L
E E P | P

KISBDIER_ outgi?jltl_ f:lci;i:veter D1/B E |F M S‘Cham er| Redius ‘gIlMélilev}/ém H2 MO;(EI__I_Iil;EER
BK TYPE D C1lc2/c2R1R2MAX| N [P R |P

BK12 |¢14, 615, ¢16, ¢18/12 103915 M12X4 140.50.50.503] 03 | 3X1.8 |12 9512  BK12
BK15 | ¢18, ¢20 15 [124000] M15x1 1205 /05]0.503] 03 | ax2s |16 [13f16]  BK1S
BK17 | ¢20, ¢25 17155323 M17x1 170.5005/0.50.3) 03 | 5x30 |21 14321 BK17
BK20 | ¢25, ¢28 20[16]532s| M20x1 [15)0.5/05]0.503] 03 | sx30 [21]16 21| BK20
BK25 | ¢32, ¢36 125 20(6530 M25X1.5/18/0.5 0.7 1 0.5 05 | 6x35 |25 19 25| BK25
BK30 | ¢36, ¢40 130 257238 M30X1.5250.50.7 1 05| 0.5 | 8X4.0 |32 23532  BK30
BK35 | €40, ¢45, ¢50 |35 [3018345M35X1.528005 1 |1 05 0.5 | 8X40 40 28540  Bk35




- .

2-0 x BT O YIANZ l
2-Xdrill¢ Y counter bore depth Z B1 ]
— 4' Y s 7
T @ -
= T Y & I
= ‘fj pan
H P
i I b, '
P
B L

shaft | | | | b |Snap

|MODEL|. | L] |
| ‘dlar;leter L| ‘H‘:tOOZ‘d:O.OZ Dl‘Hl ‘E P ‘dz‘x‘ Y | z | Bearing |ring
| BF-12 | 10 20 60 43| 30 | 25 | 35 |325 (1846 (55|66 11 |1.5| 60002Z | S 10
| BF-15 | 15 (20 70 (48| 35 | 28 | 40 | 38 |18 |54 55|66 | 11 |65 | 6000ZZ | S15
| BF-17 | 17 (2386 |64 43 | 39 |50 | 55 (2868 [66] 9 | 14 [85| 62032 | S17
| BF-20 | 20 2688 (60| 44 | 34 |52 |50 22/70 |[66| 9 | 14 [85| 6004ZZ | S20
| BF-25 | 25 (30106 /80| 53 | 48 |64 | 70 (3385 |9 |11 |[17.5 |11 | 6205ZZ | S25
| BF-30 | 30 (321128 (89| 64 | 51 |76 | 78 [33[102 |11 |14 | 20 |13 | 6206ZZ | S30
| BF-35 | 35 (321140 (96| 70 | 52 | 8 | 79 |35|114 |11 |14 | 20 |13 | 6207Z | S35
~
=
o
— = ]
Nlh’l‘ ;
oo J g
< !
o M || | !
+0.14 Y
B8O L_ +0.2
co
g .
Ball screw ‘ Locating
MODELNUBER A : MODELNUBER
‘ BF TYPE ‘ outside diameter D1 | E snap ring ‘ BF TYPE
D A | B |
| BK-12 | ¢14, ¢ 15, ¢ 16 10 [11] 96 | 1as | 915 | BF-12
| BK-15 | ¢18, ¢20 15 (13 143 | s | o1oas | BF-15
| BK-17 | ¢20, €25 17 |16 162 | 11s | 1315 | BF-17
| BK-20 | ¢25, ¢28 120 16| 19 | 135 | 1335 | BF-20
| BK-25 | ¢32, ¢36 25 20 230 | 135 | 1635 | BF-25
| BK-30 | ¢36, ¢40 130 (21| 286 | 175 | 1775 | BF-30
| BK-35 | ¢40, €45, €50 135 22| 33 | 175 | 1875 | BF-35




~ Dimensions

D AE B LIx W KO Cacu X

2 53104 10 38 45 42 3 M6 172 650 1280 |19

2 53 101 10| 38 45 42 34 M6 17 1180 2550 36
SFEOIRR-3 (% 3175 W 55 10510 55 45 % W6 07e 4O | 60 |2
SFEOI6R2-6 | %2 3475 |34 55 10510 34 65 45 36 M6 O7d | 620 | 1360 41
SFEO220-3 20| 315 |39 6 11510 47 85 so-‘n 'MOH.M %0 | 2040 25
SFEO206 |20 | 3175 | 30 62 115 10 47 55|50 41 M5 174 | 1780 4260 |49
SFEQ2040-3 |, |40 | 3175 | B 58 w10 4 55 48 40 M6E0.7x2 45 | 80 |25
SFE02040-6 (40 3175 (38 58 |11 10 |41 55 48 40 MG O7xd | 910 | 1760 | 49
SFEQS25- |, (25| 3960 4T T4 1O 12|67 66 eo|49|ue§1.m 1470 | 3350 | 3f
SFE02525-6 | 25| 3969 |47 74 13 12|57 66 60 49 M6 17xé 2660 | 6690 60
SFEOZSS0-S o 50 3960 |46 70131250 66 58 48 M6 07| 685 | 1380 31
SFEO2550-6 |50 3969 |46 70 |13 12 |50 66 58 48 Me 07xd | 1070 | 2760 | 60
s&=503232-3}32 R AT 58 2 16 12 71‘9 7 so‘msji.m 240 | 5260 | 40
SFEO232-6 32 AT62 |58 %2 16 12 |71 9 74 60 MG 17xd 3890 10500 |76
SFEORSA-D B4 | 4762 |58 %2 16512 6 9 74 60 M6 072 1000 | 20 |40
SFEOR64-6 |64 4762 |58 92 155 12 |62 9 74 60 MG 07xd | 2000 | 4260 |77
sm«uo—‘s'40 40 6350 |78 11419 15 89 1 93‘75 M6 172 | 3410 | 8820 | 49
SFEOIOI0-6 |40 | 6350 | 78 11419 15 |89 11 93 75 MG L7xd G200 17600 |95
SFEOS050-3 150 708 | %0 195215 20 107 14 112 %2 Mei‘mz 5100 | 13800 | 60
SFES050-6 | |50 7038 | 90 |15 215 20 (107 14 112 92 MG 17x4 | 7260 | 27600 117




